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1.  Which of the following is not the part of the carriage of a lathe ?

(a) Saddle (b) Cross-slide (¢) Tool post (d) Tail-stock
2. For turning steep and short taper, which taper turning method is used ?

(a) Compound rest method (b) Tail-stock set over method

(c) Taper turning attachment method (d) Forming tool method

3.  High rate of material removal is in :

(a) EDM (b) LBM (c) USM (d) ECM
4. In AJM process, nozzles are made of the following material :

(a) WC (b) low carbon steel (c) SS (d) HSS
5.  For USM, liquid used should not have following property :

(a) Good wetting characteristics (b) High thermal conductivity

(c) Anti-corrosive property (d) High viscosity
6.  Which of the following is not a drilling and boring tool ?

(a) Auger (b) Bradawl (c) Gimlet (d) Spoke
7.  Forging temperature of brass is

(a) 550 °C to 900 °C (b) 100 °C to 550 °C

(c) 550 °Cto 1200 °C (d) 900 °C to 1200 °C

8.  Spigot and Socket joint is a type of :
(a) Pipe joint (b) Weld joint (c) Soldering (d) Wood joint

9. In thread cutting process, which tap is used in last ?
(a) Plugtap (b) Bottoming tap (c) Taper tap (d) None of these

10.  Gear finishing operation is called
(a) Shaping (b) Milling (c) Hobbing (d) Burnishing

11. Buffing process is employed.
(a) to remove the material by CBN abrasive.
(b) to remove the material by diamond abrasive.
(c) to improve dimensional accuracy.
(d) to get perfectly flat surface.

12. A mortise gauge is a
(a) strikingtool  (b) planing tool (c) boring tool (d) marking tool

13. Lap joint employed on plate having thickness :
(a) less than 3 mm (b) 5to 10 mm (c) 12.5 mm (d) above 25 mm

14. The taper in the lathe spindle is :
(a) 1:10 (b) 1:12 (c) 1:15 (d) 1:20
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15. Core print is used in moulding for :

(a) supporting the core (b) making hollow space in mould
(c) removing the core (d) making core
16.  Which one of the following is not an advantage of timber reasoning ?
(a) Wood becomes hard. (b) Wood density decreases.
(c) Wood density increases. (d) Wood becomes sensitive to fire.

17. Draw cut type shaper cuts in
(a) forward stroke (b) backward stroke (c) both the strokes (d) None of these

18. Involute gear on a milling machine is cut by using

(a) spiral cutter (b) slab milling cutter

(c) angle milling cutter (d) differential indexing head
19. Trepanning operation is for

(a) alarge hole without drilling (b) a finished drilled hole

(c) enlarged hole after drilling (d) None of these
20. For high tensile strength material the abrasive recommended for grinding is :

(a) ALO4 (b) SiO, (¢) Ceramic sand (d) Sand stone
21. The degrees of freedom of a rigid body in space is :

(a) 3 (b) 6 (c) 12 (d) 18
22. Several machine tools can be controlled by a central computer in case of :

(a) DNC machine tool (b) CNC machine tool

(¢) NC machine tool (d) ACS machine tool

23.  Which of the following jig is used for easily drilling a number of holes on a component from
different angles ?

(a) Ring Jig (b) BoxJig (c) Plate Jig (d) LeafJig
24. Binding material used in cemented carbide cutting tool is

(a) Graphite (b) Lead (c) Carbon (d) Cobalt
25. In a machine tool, cutting force and power involved can be measured by :

(a) Comparator (b) Dynamometer (¢) Transducer (d) Pyrometer
26. What is the variation of cutting speed with tool life on log-log scale ?

(a) Parabolic (b) Straight line (c) Elliptical (d) Hyperbolic
27. The suitable cutting fluid for machining of alloy steel is

(a) Kerosene (b) Water

(c) Dry (d) Sulphurised mineral oil
28. A drill bit with zero rake angle is known as

(a) Flat drill (b) Straight fluted drill

(c) Blind drill (d) Parallel shank twist drill
29. The hardness of a grinding wheel is expressed by

(a) Letter/Alphabet (b) Brinell hardness number

(c) Diameter of indentor (d) Rockwell hardness number
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Which among the following, looks similar to planer type milling machine ?
(a) Universal housing planing machine  (b) Single housing planing machine
(c) Rotary table planing machine (d) Double housing planing machine

Which standard taper is generally used in milling machine spindle ?

(a) Brown and sharp taper (b) Seller’s taper

(¢) Chapman taper (d) Morse taper
String milling machine is used for

(a) small work-pieces (b) large work-pieces
(c) heavy and hollow work-pieces (d) All of these

If L = length of cut, N = rpm, f = feed/rev, then machining time in boring operation is
expressed as :

N
(fxT)

(a) (fxN)L (b) (fxL)N (c) L/N xf) (d)

While performing thread cutting operation using a lathe machine, a single point thread
cutting tool has

(a) any value of rake angle (b) zero rake angle

(c) positive rake angle (d) negative rake angle

In a metal machining operation, surface roughness is expressed as
(a) Feed?/4 x nose radius (b) Feed?/8 x nose radius
(c) Feed?/12 x nose radius (d) Feed?/nose radius

For machining operation of Elbow pipe, which combination is used as work holding device ?

(a) Face plate with angle plate (b) Face plate with dog plate
(c) Angle plate with dog plate (d) None of these

Which one among the following cannot be a specification of lathe machine ?
(a) Size of chuck (b) Distance between centres
(c) Length of bed (d) Swing over diameter

In shaper, feed on the work-piece is provided by moving

(a) vice (b) quick return mechanism
(c) ram (d) table

Which cutting tool is used in the planer machine ?

(a) Profile tool (b) Single point cutting tool
(c) Double point cutting tool (d) Multipoint cutting tool

The cutting velocity is minimum for following machining operation :
(a) Turning (b) Dirilling (¢) Grinding (d) Milling
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Lathe bed is usually made of
(a) structural steel (b) stainless steel (c) castiron (d) mild steel

Lip angle of a single point tool is of the order of :
(a) 10°-20° (b) 30°-45° (c) 50°-60° (d) 60°-80°

The locating and clamping elements are generally made from

(a) epoxy concrete (b) steel (c) brass (d) aluminium

Which of the following is not a lathe fixture ?

(a) Four jaw chuck (b) Collet (c) Mandrels (d) Arbor
To machine a hole or groove shape, which machine is used ?

(a) Slotting machine (b) Milling machine

(c) Broaching machine (d) Cylindrical grinding machine

Which one of the following is not a mechanism for the conversion of rotatory into translatory
motion ?

(a) Slider-crank mechanism (b) Rack and pinion mechanism

(c) Pitch mechanism (d) Screw and nut mechanism

Which one of the following is not a type of maintenance of machine tool ?
(a) Corrective maintenance (b) Progressive maintenance

(c) Preventive maintenance (d) Predictive maintenance

Interchangeability can be achieved by

(a) Standardisation (b) Better process planning
(c) Simplification (d) Better product planning
Internal gears are made through

(a) hobbing (b) shaping with pinion cutter
(c) shaping with rack cutter (d) milling

Which one of the following is not a type of grinding wheel failure mode ?
(a) Attritious wear (b) Erosive wear (c) Grain fracture (d) Bond fracture

In terms of cutting tool material, CBN stands for :

(a) Carbon Boron Nitride (b) Cubic Boron Nitride

(c) Cubic Borox Nitrogen (d) Carbon Boron Nitrogen

The type of flow in which the velocity at any given time does not change with respect to
space is called

(a) steady flow (b) unsteady flow (c) rotational flow  (d) compressible flow

The co-efficient of discharge of an orificemeter in comparison with a venturimeter is
(a) equal (b) much smaller (¢) much more (d) None of these
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54. The channel flow is subcritical when Froude Number (Fr) :
(a) Fr<1 (b) Fr=1 (c) Fr>1 (d) Fr=-1

55. Maximum discharge over a broad crested weir is given by : (where the symbols have
standard meanings)

(a) Q=CyLH3"2 (b) Q=0.5C4LH2

(c) Q=1.705C4LH3? (d) Q=1.705C4LH>?2
56. In case of laminar flow, the loss of pressure head is proportional to

(a) Velocity (b) (Velocity)? (¢) (Velocity)0-> (d) (Velocity)!>
57. Which property of mercury is the main reason for use in barometers ?

(a) High density (b) Negligible capillary effect

(c) Very low vapour pressure (d) Low compressibility

58. Multistage centrifugal pumps are used for :
(a) High discharge (b) High head (c) Pump viscous fluids (d) All of these

59. The relation between hydraulic efficiency (m,), mechanical efficiency (n,,) and overall
efficiency (1) is :
@ M=MeXMm () Mu=Mo*np  (€) Me=Np XNy (d) None of these

60. The unit of surface tension is :

(a) N/m (b) N/m? (¢) N/m3 (d) N-m
61. Impulse turbine is used for
(a) low head (b) high head (c) medium head (d) high flow
62. Froude’s number is the ratio of Inertia force to
(a) pressure force (b) elastic force
(c) gravity force (d) surface tension force
63. One poise is equal to
(a) 0.1 N-s/m?2 (b) 1 N-s/m?2 (¢) 10 N-s/m2 (d) 100 N-s/m2
64. A piezometer tube is used for measuring
(a) temperature  (b) humidity (c) pressure (d) None of these

65. If the flow is irrotational as well as steady, it is known as
(a) unsteady flow (b) rotational flow  (c¢) non-uniform flow (d) potential flow

66. Which of the following equation is known as momentum principle ?

_ d(m?v) _dv _ d(mv) _ d(mv)
@ F=""g ®) F=g © F="4z @ F="4
67. According to Chezy’s formula, the discharge through an open channel is :
Where

A = Area of flow

C = Chezy’s constant

m = hydraulic mean depth
1= uniform slope in bed

(a) A\m xi (b) C\ym x i (c) AC\ym x1 (d) miyA xC
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@ M=No*Mm ) Mu=To*Ny  (©) MNg=Tp XNy  (d) THHHE TR

Hdg ddTd bl HIAeh BIdl %

(a) N/m (b) N/m2 (¢) N/m3 (d) N-m
ST &I ohT YA 1 <6 foru fopam Siram @
(a) H IS (b) 3= MY (c) Teaw 3y (d) 3= IR

1SS &A1 3TITA &, Tecd 51 37
ORAEESED (b) T & <hl (c) TRcAT & hl (d) |dg dHTE &cd <hl
Teh W18 9 & S BT & :

(a) 0.1 N-s/m?2 (b) 1 N-s/m?2 (¢) 10 N-s/m2 (d) 100 N-s/m2

Teh ST iet el o1 9= = < 99 3§ fepan ST 2

(a) AT (b) FATgT (c) T (d) T B
e SiTe ST B % T-Tn feor oft 2, o 38 et ST B

(a) ARETEE  (b) gUfl waT® (c) W-GAM YaE  (d) |HIferd Yarrg
frfarRaa o @ fora Tfientor ot TerT EffeRtor & &9 8 SIHT ST 8 7

(a) F=gr§T2V) (b) F=% (c) F=dic?;_zvl (d) F=g$_vl

ISt GATTEAR, Teh Gl =t o s =191 ST &
TR A = JdTE T &Th

C = =St o1 feorTeh

m = g1 H1ET TS

i = g 1 THEAM &1

(a) A\m xi (b) C\ym x i (c) AC\lm x i (d) miyA x C
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69.

70.

71.

72.

73.

74.

75.

76.

The critical depth for a channel is given by :
Where q = unit discharge through channel and g = gravitational acceleration

1 1 1
1 2\3 3\4 4\5
q9)? a a a
(a) [gj (b) (gJ (c) (gJ (d) (gJ

The efficiency of a hydraulic press is given by :
where

W = Weight lifted by Ram

P = Force applied on plunger

A = Area of Ram

a = Area of plunger

W A P a W a P A
@ ®) wx © F>x @ W
The loss of head at entrance in the pipe is equal to
(Where v = velocity of liquid in the pipe)
(a) v2/2g (b) 0.5 v2/2g (¢) 0.375v22g (d) 0.75 v2/2g
Stoke is the unit of
(a) Kinematic viscosity in C.G.S. unit (b) Kinematic viscosity in M.K.S. unit
(¢) Dynamic viscosity in M.K.S. unit (d) Dynamic viscosity in S.I. unit
The maximum hydraulic efficiency of an impulse turbine

(Where 6 = angle of blade tip at outlet)
I+cos 6 I-cos 6 I+sin 0 1—-sin 0
o (M2 o (552 e [P e (Y

In case of fluid flow through pipes, cavitation is caused by :
(a) low pressure below a limit (b) weak material of pipe
(c) high pressure (d) high velocity

For what value of depth of flow, the discharge over a broad crested weir is maximum ?
(Where H is the available head)
(a) H/3 (b) H/2 (c) H (d) 2H/3

The metacentric height of a ship is 0.1 m and the radius of gyration is 5 m. What would be
the time of rolling of the ship ? (Take g = 10 m/s?)

(a) 10 msec (b) 5msec (¢) 20 msec (d) 15 msec
Vapour compression cycle is modification of :

(a) Reversed Carnot cycle (b) Rankine cycle

(c) Bell-Colman cycle (d) None of these

The boiling point of Ammonia is :
(a) —100°C (b) —50°C (c) —33.3°C (d) 0°C
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68. Tsh I <hi hifcieh TS Bl @ :
STET W q = o 1 $hTS g 3T g = o1 @il

1 1 1
a2 @) a | at)y
(a) [gj (b) (gJ (©) [g} (d) [gJ
69. S I hl eI EIdl B

&l W =0 gRI IS TR ¥R
P = TcA=STT 9 ST AT e

A = T &%

a = G~ hl HADA

W A P a W a P A
(a) ?X; (b) WXX (©) ?XX (d) WX;

70. 9189 § Yo W) I gif e o s gt 2
(ST&T v = U159 § 5 T )

(a) v2/2g (b) 0.5 v2/2g (c) 0.375v22g (d) 0.75 v2/2g
71. Vi T S1ames g

(a) Gk YA €150, ek (b) IGTTTIeh YA UH.. TH. ATh

(c) TTfcreh ST TH. . TH. HTh (d) TIfereh AT S.1L (TH. 37TS. ) HTh

72, 3Taf SRETE St rferehan gef gatar B |
(STET 0 = SIS o TehTH o1 HIVT 3Hb 0T )

@ [1+02059j ) [l—czosej © [1+szin 9) @ [l—szin 9)

73. U139 H gd YaTE <hl €M H I 1 I IdT &

(a) T AT <l HH g1 BT EHT (b) TSY T HASIR TeTel ol SHT BHT
(c) S=TE (d) I=am

74, TaTE <l MBS o ford 7 & foTw =N shorfier sftrent @ fagsia 1 A9 I=qR aIaT 8 7
(ST8f H 3uaTs 30 3)
(a) H/3 (b) H2 (c) H (d) 2 H/3

75. Uk UM & S&M o 3Med g shl Hars 0.1 Hiet 3 IRReH 6l fBsan 5 diet 8 | S8 1
AT T R BT 7 (g = 10 m/s2 )

(a) 10 msec (b) 5msec (¢) 20 msec (d) 15 msec
76. ATST-EIST =5k T T T B

(a) SIHA HIAIC =5k (b) =hTET Tk

(c) SA-hicTHA =gk (d) T U BE T
77.  SAEIET T FETH BT R

(a) =100 °C (b) —50°C (c) —33.3°C (d) 0°C
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79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

One Ton refrigeration is equal to :
(a) 50kcal/min  (b) 50 kcal/hr (c) 80 kcal/min (d) 1000 kcal/day

In a refrigerator, the flow of refrigerant is controlled by :

(a) Compressor  (b) Condenser (c) Evaporator (d) Expansion valve

Which of the following refrigeration plant requires no electricity ?
(a) Vapour absorption (b) Vapour compression

(c) Air refrigeration (d) None of these

On psychrometric chart, wet bulb temperature lines are
(a) horizontal lines (b) vertical lines

(c) straight inclined lines (d) None of these

The sensible heat factor is given by :
(Where S = Sensible heat, L. = Latent heat)

®sr O5T © 5 @ 5%

The most suitable refrigerant for commercial ice plant is :
(a) Brine (b) Ammonia (c) Freon (d) Air

The humidifying efficiency is given by :
(Where B = Bypass factor during sensible cooling)

1 1
(a 1-B (b) B—1 © 5 d 18

The working fluid used for absorption refrigerators working on heat from solar collectors is

a mixture of water and
(a) Carbon dioxide (b) Sulphur dioxide (c) Lithium Bromide (d) Freon— 12

In vapour compression refrigeration system, at entrance to which component, the working
fluid is super-heated vapour ?

(a) Evaporator (b) Condenser (c) Compressor (d) Expansion valve

Which of the following is undesirable property of refrigerant ?
(a) Low viscosity (b) Low freezing point

(c) Low latent heat of vaporization (d) Satisfactorily miscible with lubricating oil

Chemical formula for R22 refrigerant is
(a) Mono chloro di fluoro methane (b) Tri chloro mono fluoro methane

(c) Di chloro mono fluoro methane (d) Di chloro di fluoro methane

Seriosk » - J ME_H
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79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

Teh o Wil s 8T &

(a) 50kcal/min  (b) 50 kcal/hr (c) 80 kcal/min (d) 1000 kcal/day
Teh Thioiet o Uefides o JaTg ol f=1 g fafa feran Siran 2

(a) TdEH (b) TE= (c) TSz (d) TERT STed
=1 4 & forg weftaes s 9 farga <t STawaehar &l gt ?

(a) 919 @O (b) oY HYfieA OREIREHIGE] (d) TTH T HIE T
TTEsRIHifeeh =1 W TS dod qaHH W@ 2t &

(a) @R (b) FEREE (c) Heft 7a W@ (d) 3T A HE T

HoT ST hieh - o S a1 3 :
(STET S = Heer FSAT, L = T 35A0)

S L S+L S

S+L ® T © =3 @ g¢

(a)

SHTIETRIeh §% G337 o foiw g 31 gefides gid1 3

(a) ST (b) =T (c) 3T (d) g

TS RT0T 8T T o seR It &
(ST&T B = STSUTH Reh Hae ae o T03)

1 1
(a 1-B (b) B—1 © 5 d 18

I HUTgh 8 Icq=1 Bl IATeil FHBAT IX Sh1H hid Tl AT ThIsied o Tt S wrisrl g0
T BT &, I8 T 3N 1 T 2 |

(a) TS SEHTFTES (b) FTH SEIHTFES

(c) Taferm smss (d) 3T - 12

ST Fie Tfiad Jomreft §, ford ©resh H o W hREIRfiel oo Afddy 91T giar g ?
(a) TS (b) Tuf= (c) Tdish (d) JERaed
TTH T I 91, Sfideh T TS 0 § ?

(a) H T (b) T feure

(c) arsdieRtor Shi e T e (d) & dA & |1Y HAHh i
R22 Wefideh o folt THTI%h 3 BT &

(a) THI-FART S5 Tl HIH (b) TR-FART T Tl HoA

(c) SE-FARI HHI el M (d) SE-FARI T3 Tl oA
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91.

92.

93.

9.

9s.

96.

97.

98.

In vapour compression refrigeration system, the sub-cooling of refrigerants in the condenser
results in :

(a) Decrease in COP of the system (b) Decrease in the size of the condenser
(c) Increase in the size of the evaporator (d) Increase in the size of the compressor

When discharge pressure is too high in refrigeration system, why is high pressure control
installed ?

(a) To stop the cooling fan (b) To stop water circulating pump
(c) To regulate the flow of cooling water (d) To stop the compressor

COP of air refrigerator is related with COP of vapour compression refrigerator as
(a) (COP) . >(COP) (b) (COP) .. <(COP)

(c) (COP) . =(COP) (d) None of these

air vap. C. vap. C.

air vap. C.

In an ideal vapour absorption system, the absorber pressure is equal to the pressure of :
(a) Generator (b) Condenser (c) Evaporator (d) Expansion device

If air is heated without changing its moisture content, the dew point will
(a) increase (b) decrease (c) remain the same (d) be unpredictable

If air is passed over the cooling coils, this process is termed as :
(a) sensible heating (b) cooling with humidification
(c) cooling with dehumidification (d) None of these

In a psychrometric process, if the sensible heat added is 30 kJ/s and latent heat added is
20 kJ/s, then the sensible heat factor will be :

(a) 0.3 (b) 0.6 (c) 0.67 (d) L5

The relative Coefficient Of Performance (COP) is :

(a) actual COP / theoretical COP (b) theoretical COP / actual COP
. actual COP

(c) actual COP x theoretical COP (d 1- (theoretical COP)

The higher temperature in vapour compression refrigeration cycle occurs at :

(a) evaporator (b) condenser discharge

(c) compressor discharge (d) expansion valve

Pick up the correct statement about giving up of heat from one medium to other in ammonia
absorption refrigeration system.

(a) strong solution to weak solution (b) ammonia vapour to weak solution

(c) weak solution to strong solution (d) ammonia vapour to strong solution

The normal boiling point of refrigerant R-11 in comparison to refrigerant R-12 is :
() higher (b) lower () equal .(d) None of these.
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92.

93.

94.
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98.

99.

T TSy Hftes ssfia o o gufas o yefident o srasfia o1 g gar &

(a) T % COP U g™ OKEEEEX IR K]

(c) SIS < 919 H Jfg (d) Hdree < 919 | g

S refie SorTeft  forrs gre sigd tfereh a1 8, a9 3= grel R0 e i fope St g 7
(a) A T@ 1 Ushd & fIT | (b) oA YSITEH TH Sl §¢ Hid o foTT |

(c) 3US TeA & W& ol (FTHd B & T | (d) T i v i & foIU |
a1y wefifersr o frsarer ToTres e arsa gite wefifos o fsared ures # f gew 7

(a) (COP) ;> (COP) . ¢ (b) (COP) ;, <(COP) ., ¢

(¢) (COP) ;,=(COP) . ¢ (d) 3T I HE TE

Teh T 199 JTSNY0T feh |, STeeSeh 1 e 1 1 § foreeh o & sUsR BT & 7
(a) ST (b) eI (c) @t (d) o Jfep
Ife 9Ty 1, T |1 1 g fohu femr, T foher Sia 7, o1 3t

(a) SGA@MLE |  (b) TS | (c) T TS | (d) FIETRIE B0 |
SiidcTeh Tt U I 9T ol SATEd TR SATAT &, Tl 39 JTshaT bl had &

(a) o AT (b) 3METeRTUT o |1 IfdeH

(c) ST % |1 Sfieer (d) 3TH & RIS TR

Tereht Trgshitfees wohm | I 30 kJ/s <t Tordt o1 § ST & 9 T IH¥4T 20 kJ/s G € A
7, T Tolc! 3T 01T Il

(a) 0.3 (b) 0.6 () 0.67 ) 1.5
TTYeF fsaTeH Ttk (COP) Bl 8
(a) ardfees @309, /Agifas H.an. . (b) Sgiiaes Hi.3n.d. /ardfess .30,

. aTEdfaes g3,
(c) arefesh E.3.d. x gifae @.3md. (d) 1 - [ﬁ:sr’r%emﬁ 3iﬁtﬁj

- TftaH =sh | 3= a9 BT &
ORCUEER:] (b) T FdET () Tffes fegaw  (d) foararca @

SHHIT 0T F2Te JoTett § Teh HIesH | o 71eH H o1 Big o SN 4 Hel U I

(a) O 1A | G1g oA o (b) T = | STHIT AT &

(c) 9% O Hag o o (d) 9Tg = § I 9 o
T3tk R-12 ST ot H, Jfiaeh R-11 T SHTT T BT &

(a) 31freh (b) H (c) ST (d) 7 & T
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103.

104.

105.

106.

107.

108.

109.

110.

Vertical lines on pressure-enthalpy chart shows :
(a) Constant pressure lines (b) Constant temperature lines
(c) Constant enthalpy lines (d) Constant entropy lines

Psychrometric Chart

t—>
On psychrometric chart, OC line represents

(a) dehumidifying (b) heating (c) cooling (d) humidifying

The value of sensible heat factor quite common in air-conditioning practice in a normal dry
climate is :

(a) 0.35t00.40 (b) 0.45100.55 (c) 0.651t00.70 (d) 0.75t00.80
Centrifugal compressor is a type of compressor.
(a) reciprocating (b) rotary (c) Both (d) None of these

Which one of the following is a boiler mounting ?
(a) Feed pump (b) Fusible plug (c) Superheater (d) Economiser

Which of the following is not true about steam engine ?

(a) These may be used in locomotive trains.

(b) They run on coal.

(c) They are a type of I.C. engine.

(d) Piston cylinder arrangement is there in a steam engine.

Which of the following is a water tube boiler ?
(a) Lancashire boiler (b) Babcock & Wilcox boiler
(¢) Locomotive boiler (d) Cochran boiler

Which of the following is not a boiler mounting ?

(a) Blow off cock (b) Feed check valve (c¢) Economiser (d) Fusible plug
The isothermal efficiency of a compressor is defined as

(a) Isothermal work / Actual work (b) Adiabatic work / Actual work

(c) Actual work / Isothermal work (d) Actual work / Adiabatic work
Which of the following is a high pressure boiler ?

(a) Lancashire boiler (b) Benson boiler

(¢) Locomotive boiler (d) Cochran boiler

In which coal firing system coal is fed through compressed air ?
(a) Pulverized firing (b) Stoker firing
(c¢) Both (a) & (b) (d) None of these
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101.
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104.

105.

106.
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108.

109.

110.

-} TTE I Heater W@ euridl &
(a) TRRTE @R (b) RRIWR@E () RRTIA W () R e

Psychrometric Chart

>
HTgshiHifeeh 3@ W, OC @1 el 2

(a) Tt (b) AT (c) Sftde (d) TSRt
HTHT I[5%h STaTy H, ATATIRe ST H ShTth! FTHT Fael HET SHeh 1 HH BT &
(@) 0358040 (b) 0459 0.55 (c) 0.6580.70 (d) 0.75T0.80
bl gEflgeh YR <1 TPIIEh 2 |

(a) AT (b) it (c) & (d) 3T A E o T
= 1 9 5 S Shl TR g ?

(a) I T (b) T AT (c) fcrares d) Traers
1 3 O o6 o1 a2y a7 -3 o T Tt TEi R 2

(2) F€ F(Td ¢ H M B Hehd & | (b) I PN Y TAd B |

(c) ITHTHNH L.C. T8 | (d) T A9 o 1 T fafoiet sz 2 2 |
= 9 w9 a1 o et T S R 7

(a) TTRTIRR AT A (b) Sehich I fercTenterd WTT A=
ORSESERIRIIEE] (d) TR T ST

= 1 @ o Sige H SR AE R 7

(a) ST 3T Hich (b) TS < aTedl

(c) firaemrsh (d) e

Teh igeh <hl AHATA gardn TRV Bt 8

(a) THATHR 1 /aRd(aeh (b) T 1Y /ITEfeeh S

(c) aTifereh S /AHAT T T (d) aTEdfIeh B /BT B

71 T & 5 T7 SiTeR Teh 399 g SFeR B 7

(a) TTHRTIRR TR (b) ST ST

(c) AT SR (d) IR FIFR

fora e Bt fafer & et s aefifed 7o s Aeam 8 S ST R 7

(a) AT Bt (b) TR GG

(c) &M (a) T (b) (d) T H g T
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118.

119.

120.

121.

122.

123.

Arrange Pelton, Francis and Kaplan turbines in the decreasing order of specific speed.
(a) Kaplan, Francis, Pelton (b) Francis, Kaplan, Pelton
(c) Pelton, Francis, Kaplan (d) Francis, Pelton, Kaplan

. Heat converted into useful work .

The ratio Total adiabatic heat drop in turbine is called

(a) Rankine efficiency (b) Blade efficiency

(c) Overall efficiency (d) Internal efficiency

In which type of turbine, the expansion of steam does not take place in the moving blade ?

(a) Impulse turbine (b) Reaction turbine (c¢) Mixed turbine (d) None of these

Which stroke is not there in a 2-stroke engine ?

(a) Compression (b) Expansion (c) Exhaust (d) Both (a) and (b)
Which of the following refrigerant is not harmful for ozone layer ?

(a) R-12 (b) R-11 (c) R-22 (d R—134a

Hot air engine is an example of

(a) Internal combustion engine (b) Rotary engines

(c) Rotary and reciprocating engines (d) External combustion engine

The thermodynamic cycle on which the petrol engine works is :

(a) Otto cycle (b) Joule cycle (c) Rankine cycle (d) Stirling cycle
The Frictional Power (F.P.) is given by :

Where

(B.P. = Brake Power, I.P. = Indicated Power)

(a) F.P.=B.P.—1P. (b) F.P.=1P.-B.P.

(c) F.P.=B.P./LP. (d) F.P.=1P./B.P.

The octane number of petrol, generally available is :

(a) 20to 40 (b) 40 to 60 (c) 60 to 80 (d) 80to 100
Piston rings are usually made of

(a) Castiron (b) Aluminium (c) Brass (d) Carbon Steel
The spark plug gap normally in petrol engine is :

(@) 0.1to0.2mm (b) 0.2 to 0.4 mm (c) 0.6to 1.8 mm (d) 2to3 mm

Calorific value of diesel oil is :
(a) 3000 kcal’kg (b) 5000 kcal/kg (c) 7500 kcal/kg (d) 10000 kcal/kg

In forced circulation boilers, about 90% of water is recirculated without evaporation. The
circulation ratio is :
(a) 0.1 (b) 0.9 (c) 9 (d) 10




111. Yoo, IHE o oA LETS1 ohl Ieh! ff3rs 7 o Ted 0 1 foiRgu

(a) =AM, WHIHd, Yo (b) WHIHE, HAH, Yo
(c) Ueed, Wifed, HTH (d) I, Yo, HTH
112. a9 1 fob ST ST 8 Sget /el S5 19 B fRTEe o STHTd ol T had 8 7
(a) TP (b) IS &Il (c) A g&rdl (d) AT g&Tar

113. s H & § 97159 1 foiaR afeld soig T8l aldT & 7
(a) MM EET  (b) UldGraIe@ET  (c) Tufdm ctars (d) 378 A HIE TE

114. 9= T Q6 91 Tgieh Teh 2527k 3o H Tl g1 & ?

(a) FfreT (b) fererdicheon (c) s (d) ST (a) T (b)
115. 378 4 I °1 yefideh T Wd o foIe grfieres T2 2 7

(a) R—12 (b) R—11 (¢c) R—22 (d) R—134a
116. T8 7Y 391 7 1 T ICTET &

(a) TR & 3o (b) Tfeamh oM

(c) eyt 3 e 5 (d) & & 3o
117. Ui 3o T SSATTIeh =I5k 9T T3 ohidl & :

(a) AT (b) [ =h (c) {13 =k (d) T =h

118. =¥ 31k (F.P.) i gro = HT et 2
(S8l B.P. = 5i% 9ITth, L.P. = o wfh)

(a) F.P.=B.P.-LP. (b) F.P.=LP.-B.P.

(c) F.P.=B.P./1P. (d) F.P.=LP./B.P.
119. 3YTsY USISA <hl 3Tere TEAT ATHIAIT BIdl 2

(a) 20T 40 (b) 40 ¥ 60 (c) 60% 80 (d) 80 100
120. foees o g e <t &+ 2l 2

(a) Tl el (b) T (c) e (d) HTeH 3T

121. U 3914 o TqTeh W § T 31=qUed BT &
(@ 0.1902mm (b) 0.2%0.4 mm (c) 0.69 1.8 mm (d) 293 mm

122. SIS 3T 1 SHE T BT 2
(a) 3000 kcal’kg (b) 5000 kcal/kg (c) 7500 kcal/kg (d) 10000 kcal/kg
123. S UTGEHER0T STIERT H, T 3T ST 90% JH<IshvT fHT TSI <6 BIaT & | ITE=Ror 39T &
(a) 0.1 (b) 0.9 © 9 @ 10
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132.

Critical pressure for steam is :
(a) 184 bar (b) 163 bar (c) 221 bar (d) 252 bar

If vy, = blade speed

v = Absolute velocity of steam entering the blade

o = nozzle angle

The efficiency of an impulse turbine is maximum when :

(@) vy =0.5vcosa (b) vy =vcosa

(€) v, =0.5v2cos a (d) v, =v2cosa

Throttle governing in steam turbines :
(a) leads to significant pressure loss (b) increases the efficiency
(c) increases heat loss (d) decreases steam temperature

Morse test is conducted for

(a) single cylinder engine only

(b) single cylinder and multi cylinder engine both
(c) multi cylinder engine only

(d) None of these

The order of values of thermal efficiency of Otto, Diesel and Dual Cycles, when they have
equal compression ratios and heat rejections, is given by

(a) MNotto > MNdiesel > MNdual (b) MNdiesel > MNdual > MNotto

(C) MNdual > MNdiesel > MNotto (d) MNotto > MNdual > Ndiesel

The part load and thermal efficiency of two stroke cycle engines as compared to four stroke
cycle engines is :

(a) higher (b) equal (c) unpredictable (d) lower
The efficiency of an Otto cycle is 60% and y = 1.5, determine the compression ratio.
(a) 5.15 (b) 6.25 (c) 7.25 (d) 8.25

Which one of the following types of swirls is generated by a pre-combustion chamber in the
diesel engine ?

(a) Squish (b) Compression swirl
(c) Induction swirl (d) Combustion induced swirl

An engine produces 10 kW brake power, while working with a brake thermal efficiency of
30%. If the calorific value of the fuel used is 40,000 kJ/kg, then what is the fuel
consumption ?

(a) 1.5 kg/hr (b) 3.0 kg/hr (¢) 0.3 kg/hr (d) 1.0 kg/hr
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v = 1€ H oISl i Teft | 3T q01 o

oL = TISTet ShI0T

Teh 3ATAT ST hl C&TAT 3ATeehad B! &, &

(@) vy=0.5vcosa (b) vy =vcosa

(¢) v, =0.5v2cosa (d) v, =v2cosa

1Y &M H Yiedt Fae=v

(a) TP BT Y IARIP < hl FTH HLAT 2 |
(b) CETT SGTT & |

(c) o1 g H gfg g |

(d) W9 ST ATIHH AT 7 |

(a) heret Ushet Fferst So (b) Teher fiferet ud =g ffeiet s gl < fere
(c) g =g faferet o (d) Y BE T

3iel, EIoet 3R YT Fshi <h! AT G&IAT oh HT <1 3hH, ST& ShT TUTSH ST 3R 5T e
T B 8, i g fear siman @

(@) Motto > Ndiesel = Ndual (®) Ndiesel > Naual > Notto

(€) Mgual > Ndiesel > Notto (d) Motto > Ndual > Ndiesel

AGATITA b ST <hl T § T - SATEIT <5k ST BT ST YR 3T AT g Bt &

(a) 3 (b) SR (c) IR (d) *4

Teh JATET =I5k < C&IdT 60% & 3T y = 1.5 B, a1 wdted 3uma fatfa it |

(a) 5.15 (b) 6.25 ©) 7.25 (d) 825

frferfiaa o & fohd weh Yohr o guTa (YR Eioret s § fi-hraeH (Td-gad) IFeR | 3ca

fpusma g ?
(a) BN (b) wdfifed g (c) ST gHTe (d) <& IiE guE

T S5 30% chl 51k el &TAT % H1Y %TH hid 5T 10 kW Sieh T1fh el ohiell & | Afe Teh $et
T ST TH 40,000 ki/kg 2, T 64 <l @ =1 BRTT 2

(a) 1.5 kg/hr (b) 3.0 kg/hr (¢) 0.3 kg/hr (d) 1.0 kg/hr
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134.

135.

136.

137.

138.

139.

140.

141.

Phenomenon of choking in compressor means

(a) no flow of air.

(b) fixed mass flow rate regardless of pressure ratio.

(c) reducing mass flow rate with increase in pressure ratio.

(d) increased inclination of chord with air stream.

The work input of a compressor is minimum when the law followed by compression is :
(a) isentropic : PVV=C (b) isothermal : PV =C
(c) PVI35=C (d) PVI25=C

Convert pressure head of 10 m of water in terms of liquid with specific gravity of 0.8.
(a) 8.5m (b) 10.5m (¢) 11.5m (d 12.5m

The ratio of work done to the energy supplied to rotor in a turbine stage is called
(a) Blade efficiency (b) Stage efficiency
(c) Nozzle efficiency (d) None of these

A single stage impulse turbine with diameter of 120 cm runs at 3000 rpm. If the blade speed
ratio is 0.42, the inlet velocity of steam will be :

(a) 200 m/s (b) 450 m/s (¢) 900 m/s (d) 80m/s

In a surface condenser used in a steam power station, undercooling of condensate is
undesirable as this would :

(a) not absorb the gases in steam (b) reduce efficiency of the plant

(c) increase the cooling water requirements(d) increase thermal stresses in the condenser

Formation of steam bubbles on the surface of boiler water is due to :
(a) low surface temperature of the water (b) high surface temperature of the water

(c) high surface tension of the water (d) low surface tension of the water

Equivalent evaporation may be defined as the amount of water evaporated from water at
100 °C to :

(a) wet and dry steam at 100 °C (b) wet and saturated steam at 100 °C
(c) dry and saturated steam at 150 °C (d) dry and saturated steam at 100 °C

In Jet condensers :

(a) cooling water passes through tubes and steam surrounds them.
(b) steam passes through tubes and cooling water surrounds them.
(c) steam and cooling water mix.

(d) steam and cooling water do not mix.
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133.

134.

135.

136.

137.

138.

139.

140.

141.

GfiEeh T AlfehTl o TTGHTE 1 37 BT &

(a) ST T SlTE &l & |

(b) aTa 3T & uferd g fom ffesra geomm ware ot |
(c) Fgd CHTE U o |1 FSIHH YaT8 &L 3l HH HT |
(d) TTY TATE h 1Y DS o M I IG |

Tfigeh 1 SR e a8 =Eay g 8, o Tdied gry e w61 srdTe o Sman @

(a) HHUUIUS : PV =C (b) FHATH : PV =C

(c) PVI35=C (d) PVI25=C

Ut 10 m gTel 3 =1 0.8 fafiTe Teca aTet g9 % ug  uftafda Hife |

(a) 8.5m (b) 10.5m (¢) 11.5m (d 12.5m
fepwft TxaTeeT =T § fopu TTU T T F[uTeh 1 € T8 Sholl o ITUTT i hEd &

(a) =TS g&al (b) =T g&Id (c) TS (V) g&Fd  (d) 3TH & HIs ARl

120 T4}, S8 FTeft Tehel TROT TS &R 3000 3TN TH. (rpm) W It 2 | Ife &I i
IUTA 0.42 B, TN T ST ST=TH T AT ST 7

(a) 200 m/s (b) 450 m/s (¢) 900 m/s (d) 80m/s

T WY i<k €97 § STAM FopT STH aTel I8 T3 H, H(d 1 Sasfiaed STare-1d 8 i
B

(a) WT9 H TG T M7 T&T BT | (b) TIIRF TF= HT GeIAT I HH HAT |

(c) 3% UM 6T EATIHATHA Bl F@TWN | (d) Fai-e T ardia gfderedi i s |

ST o U <l g T 9T < Fereett <1 fmfor fe wror 3 g g

(a) U Tag W e araEE (b) U Sl TAg W 3= ATIHH
(c) U W 3= |aqg ad (d) It R = wag e

FOge ITSARTOT, ST 100 °C T I o] ATTSTd B JTet I 3hl AT Bl &, fohteh &9 8 ity
ferm S EFaT g ?

(a) 100 °C 90 37 &6 9T (b) 100 °C W =4 3R HJH {19
(c) 150 °C W e 3T TJH 9 (d) 100 °C W I 3T TJH 9
S Hufs | BT 8

(a) SUST U TS & TGHAT & 3T A9 3 B el 7 |
(b) W9 TS € TSI & IR AT 36 B AT 2 |

(c) W9 3R 3veT It firer SITar & |
(d) 9 37T 3ver a7 firera € |
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144.

145.

146.

147.

148.

149.

150.

151.

152.

153.

In resistance welding, the current in comparison to Arc welding is :
(a) less (b) more
(c) equal (d) Current does not flow in resistance welding

In Tungsten Inert Gas Welding (TIG) which of the gas can be used ?
(a) Acetylene (C,H,) (b) Oxygen (O,)
(c¢) Helium (He) (d) All of these

The speed at which electrode moves or deposition takes place is known as
(a) Electrode speed (b) Operation speed (c¢) Machine speed  (d) Welding speed

The ability of sand to take up the desired shape is known as

(a) Adhesiveness (b) Cohesiveness (c) Binding (d) Flowability
To completely burn one mole of Acetylene, how many moles of oxygen are required ?
(a) 1.0 (b) 1.2 (c) 0.8 (d) 2.5

Match plate pattern is used in moulding.

(a) Floor (b) Machine (c) Three-box (d) Plate

Part produced by powder metallurgy is often termed as part.

(a) cast (b) sintered (c) machined (d) None of these

In a rolling process, the roll separating force can be reduced by

(a) increasing friction between roll & work-piece

(b) providing the back-up roll

(c) decreasing the roll diameter

(d) increasing the roll diameter

Which one of the following options describes the disadvantage of the cold forging
process ?

(a) Enhanced surface finish (b) Residual stresses are generated

(c) Elimination of wasted material (d) Improvement in mechanical properties

In press working operation, if the sheet metal punched out portion is the required product,
then the name of operation is

(a) Piercing (b) Lancing (¢) Shaving (d) Blanking

In powder metallurgy, the desirable compression ratio for making product from metallic
powder is :

(a) 3:1 (b) 5:1 (c) 7:1 (d) 9:1
Which of the following is not true about centrifugal casting ?

(a) It produces hollow products. (b) Core is used.

(c) Mould is used. (d) The mould is rotating.
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142, UfRIY deed T 1T 371k desd o Johled

(a) FABA R | (b) RF AN |
(c) S EIR | (d) Sfere dee ° 9 aed T8l Bl B |
143. .38, (TIG) Ao § i i T 1 T &l Tehal B 7
(a) TEIREETH (C,H,) (b) AR (0,)
(c) EifeTm (He) (d) g Tt
144. 9% i form W seiaeie =etan & 31era f8iqur 8idn 2, Shaetrd
(a) SIS (b) Tk i (c) efi= Tifa (d) =T Tfa
145. 3q sl =18 T HTHR i+ <hi &HAT HaATd! &
(a) TSR (b) TEHSTRT (c) sefiertor (d) et
146. TEeE % T HIS (mole) T QUIAAT ol T fohad HieT STl <ht 3mrergerehar Rt 7
(a) 1.0 (b) 1.2 (c) 0.8 d) 2.5
147. aifeen 1 89 wie gfaey 1 3TN foman Sar 2§ |
(a) TR (b) WA (c) Tr-wfem d) =R
148. <0T-4TqehH o GRIT IScATfed ST ol TTHRIG: 3TTIE HEd 3 |
(a) L (b) Tuee (c) wefifra (d) 378 T HIS T

149. Tsh UTHT Afeham H, USA bl ST fohaT STH ITeAT o1 bW TShaT STT Hehdl &
(a) HEI-GUG 3TN Ut o T TG TR | (b) Fh—-3T9 UA T Hloh |

(c) et = ST 1 HH Hih | (d) Tt = ST I SATST HLH |
150. =1 foepedi o @ o @ 3fia wisi ik K gfy Hremiar g 7

(a) TAgE ! THh T T | (b) TafITE gfdeetl 1 3= BMT |

(c) 3T vere 1 Fsehma | (d) I T[T T &G T |
151. afe S afsh gfskan , <Tet oTg & H1el T WFT & 3TEveeh 3cTE 7, I JishaT 1 919 8

(a) IFA<AYT (b) TG (c) BleM, Gehad (d) =iha
152. U 9ot GTgeRH Sk | oTg-9ot & IcTg s o foru sfesd gufied v g 2

(a) 3:1 (b) 5:1 (c) 7:1 (d) 9:1
153. T 0 O Tuh) @TE o IR U i W1 9T TE R B ?

(a) 39U GEA 3T E9d & | (b) U DR HT TAMT BT 2 |

(c) $HY HIeg T TAN 1T 8 | (d) 39 HIeg UH T ¢ |
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154. What is the input material of a cupola furnace ?

(a) CastIron (b) Pig Iron (c) Steel (d) Mild steel
155. In which casting process, the pattern is not removed before pouring the liquid metal ?
(a) Investment casting (b) Lost foam casting
(¢) Ceramic mould casting (d) Shell casting
156. Self lubricating bearing is produced by which process ?
(a) Machining (b) Die casting (c) Powder metallurgy(d) Investment casting
157. Which of the following is not a refractory material ?
(a) Zirconia (ZrO,) (b) Alumina (A/,0O5)
(c) Titanium carbide (TiC) (d) Iron oxide (FeO)
158. The water content in green sand for moulding is
(a) 0-1% (b) 1-4% (c) 11-13% (d) 6-8%
159. In which welding process, the work-piece is kept in vacuum ?
(a) Laser Beam Welding (b) Electron Beam Welding
(c) Plasma Arc Welding (d) All of these
160. In explosive welding which plate is kept at an angle to the horizontal ?
(a) Targetplate  (b) Flyer plate (c) Base plate (d) Both (a) & (b)
161. Which chemicals are used during thermit welding ?
(a) Fe+ ALO, (b) FeO + Al (c) FeO+ ALO, (d) Fe+ Al
162. In SMAW/MMAW process if the electrode is not removed after touching quickly then
(a) the welding transformer gets burnt (b) electrode sticks to the work-piece
(c) arc is initiated easily (d) the welder’s hand may get burnt

163. Among the following, the welding of which material is most difficult ?

(a) Mild steel (b) Low carbon steel

(c) CastIron (d) All are equally difficult
164. If metal is poured at a low temperature in mould, which type of defect may occur ?

(a) Misrun (b) Pinhole (c) Drop (d) Blow hole
165. In shell moulding, the pattern is made up of which material ?

(a) Metal (b) Wood (c) Plastic (d) Any of these
166. Penetration of weld is to power density.

(a) inversely proportional (b) equal

(c) proportional (d) has no relation

167. In arc welding, the ratio of weight of metal actually deposited with the weight of metal of
electrode consumed is known as

(a) Electrode metal ratio (b) Consumption ratio
(c) Consumption efficiency (d) Electrode efficiency
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155.

156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

Teh RIIIAT W3 | D |1 41 STeAT ST 8§ 7

(a) BEidlEl  (b) e TRl (c) 3T (d) ¥g 3eTd
form gaTs farfer g =1 ferereft g gTer @ waet frepren & AT g 7

(a) TIRLALGATS (b) ARLBETAR  (c) i Ales g (d) A golrs
wd: Higa satar frm fafty & e w2 2

(a) WA (b) STE-Tems (c) Toi-ergeHH (d) 3R Tes

= 3 e v gl aered 76 & ¢

(a) SFRIMAT (Z1O,) (b) T (ALO3)

(c) TTg(=M HTE1ES (TIiC) (d) IIIE 3MFTES (FeO)
At g MR @ Fm o A uf g 2

(@) 0-1% (b) 1-4% © 11-13% d) 6-8%
fopm e faf ¥ arg-wvg 1 Fafa A @ wmar g 2

(a) TSR YA deed  (b) oM U degd  (c) WISHT 3%k degd  (d) I8 aft
foremIeeh dogd § M W wie TUael | <hivl 9T T It 3 ?

(a) TR I (b) FARR ©TE (c) 9T d) (a) 3 (b) AT
oRfie e | fohe AT T SUAM BT § 7

(a) Fe+ALO,  (b) FeO + Al (c) FeO+ALO,  (d) Fe+Al
SMAW/MMAW dee T 37Teh TATIUd hid THY SFS bl STeet AT & T

(a) TS SR ST ST 8 | (b) oIS UTg-EUE & Fueh I % |

(c) 3T T § T1fUd B ST 2 | (d) TSP EY FA GhT B |

=1 5 9 fope g 1 Soe Taifees HigT § ?

(a) Hg 39 (b) T wEATEE  (c) Godl o () aft ST e |
¢Tq <! hH TTIHM T HIcS H SIoH T i H1 G 31 &l Tehdl § ?

(a) foree (b) fom-feog (c) g (d) -2
St Aifeet | e fopm uered ST ST BT 7 7

(a) 91q (b) el (c) AT (d) 3THAHE A
og I IJdaYH, Ifth O BT |

(a) SFFHAGIA  (b) TR (c) HHTFA (d) IS Haw T
31Teh doe B el o SRedfdeh U1 Y T Solareis Uerel o SUMRT YR ¥ TUTd HEATdl &
(a) SoTHRIS UG ITUTA (b) 3T U

(c) 3UHh c&Idl (d) 3@3‘{3 _&dl
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169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

The material of the lapping tool is the work-piece material.
(a) harder than (b) softer than
(c) ashard as (d) Any material can be used

Which one is not related to the shop layout ?

(a) Accurate size of land (b) Area of shop

(c) Cost of product (d) Number of machines

Radial lines of wood cells are

(a) Annual rings (b) Pith (c) Medullary rays  (d) Cambium layer
Gullet angle of the teeth of rip saw is upto

(a) 30° (b) 40° (c) 50° (d) 60°

In ultrasonic machining process, the tool material should have

(a) low toughness & low ductility (b) high toughness & low ductility

(c) low toughness & high ductility (d) high toughness & high ductility

Which chemical is used for making acetylene in an acetylene generator ?

(a) CaCO4 (b) CaC, (c) BaCO, (d) BaO

Which material is generally used for making swage block ?

(a) Mild steel (b) High strength steel(c) Pig iron (d) Castiron

If the silica sand particles are rounded in the moulding sand, which of the following increases ?
(a) Strength (b) Porosity

(c) Shrinkage allowance (d) All of these

In Galvanized Iron Sheet (GI), zinc is used

(a) to make it flexible (b) to make it corrosion resistant

(c) to make it cheap (d) All of these

Which instrument is not used for the measurement of the thickness of the metal sheet ?
(a) Wire gauge (b) Screw gauge (c) Steel scale (d) Vernier callipers

A universal chuck used on lathe machine has

(a) three jaws (b) four jaws (c) two jaws (d) six jaws

The tendency for built-up edge formation in chips can be reduced by :
(a) decreasing the cutting speed (b) increasing the depth of cut
(c) increasing the rake angle (d) avoiding the use of cutting fluid

The thrust force in drilling does not depend on :
(a) strength of the work-piece material (b) feed
(c) drill diameter (d) type of drilling machine used
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168. Tsh AU 3SR <1 UeTe, HH-GUS & Ue1e & BT |
(a) TG HBR (b) aTEl TH
(c) THM 3R (d) 18 off veTef T HHHA B |
169. T=fafaa o & % o1 o srfirfe=mg @ grafRa T 2 2
(a) BT AT (b) WA P &IBA  (c) STARH AN (d) HRAHI bl @

170. TSI o Tl oh i W@ &

(a) TH I (b) Ty (c) HSIeRI fertot (d) Hitem wa
171. T 31 < <l 1 IeTe v 21T &

(a) 30° T (b) 40° T (c) 50° T (d) 60°
172. STl A Ifshan §, 3SR a1g | g1 91fe

(a) U TSI TF T Tl (b) TSI S TS 7 =T

(c) HH HTSUT T AT a2l (d) ST SHSYA Td SATET q ]
173. wEifeeta st § fora wmam =61y wEifeefia sv & fu gan 2 ¢

(a) CaCO; (b) CaC, (c) BaCO, (d) BaO
174. T ST ATHTA: TShe €T 1 ST 81T 8 ?

(a) I3 39T (b) SHAWA T (c) =l ARl (d) &oTal A&
175. Geiehd d H fafetent 1 o Tl o MATHRR g4 § G<ieh § =1 dedl & 7

(a) Eme (b) &l (c) Hp=H e (d) =& ah
176. SR<ER &R <h! =1eT (GI 3fie) | ST&d o1 I3 BT &

(a) I AT o o forg (b) 3T ST-TEH T & oI

(c) 3T AT 9 o fetw (d) I8 ad
177. 91g <TeX <hl TS AT o foTu ot STSIR 31 ST =2 g & 7

(a) ATCATH (b) BRI (c) SEITC T (d) TR Hfem
178. Teh Hra¥ifies =eh, Toreent 9o @ire 93fia W fora Siran 2, 399 Sieei shl S il &

(a) i STg (b) ¥R SfeIg OREES (d) ®: g
179. B H foce-319 U 59 hl Ik sl i TehR & ekl ST HeheT 2

(a) Tha T bl TR | (b) ha TTEE ! TGTH |

(c) 1o IV I TSR | (d) e 59 T ITITT T Hih |
180. Tegur gfehan & yone st feit 78 a2

(a) HRI-TUE % Tere hl TAe T (b) ST

(c) Togs =ma (d) T <R TS fe5gor Wi o TR 0T

JME-II ' 31 Series-A



Space For Rough Work / % S & foe srg

Sericon 7 J ME_H




